ECLT5820 –Distributed and Mobile Systems
Topic 7: Distributed Transactions
1. Given the following example of interleavings of two transactions T and U:

	T
	U

	Read (A)
	at server X
	
	

	Write (A)
	at server X
	
	

	
	
	Read (B)
	at server Y

	
	
	Write (B)
	at server Y

	
	
	Read (A)
	at server X

	
	
	Write (A)
	at server X

	Read (B)
	at server Y
	
	

	Write (B)
	at server Y
	
	


Are these two transactions serially equivalent locally at each server?  Is this distributed transaction schedule serially equivalent globally?

Answer:

Both T and U are serially equivalent interleavings locally, since T ( U at server X and U ( T at server Y.  The overall schedule is, however, not serially equivalent globally because there is a cycle T ( U ( T 

2. Based on the above example, how do you modify the interleavings of the two transactions so that the overall schedule is serially equivalent globally?

Answer:

To achieve serially equivalent interleavings globally, the transactions at each server should achieve serially equivalent interleavings locally, and the cycle should be avoided.

